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29.  Which of the following is/are feature/features of the Lucknow Pact of 1916?  
 1. Self-government in India  2. Separation of the executive from the judiciary  
 3. Separate electorates for all communities  
 Select the correct answer using the code given below.  
 (a) 1 only  (b) 2 and 3 only  (c) 1 and 2 only  (d) 1, 2 and 3  
30.  Which of the following animal species can be found in “Kishtwar National Park”?  
 1. Snow Leopard       2. Hangul       3. Lion Tailed Macaque      4. Wild Buffalo    5. Namdapah Flying squirrel  
 Select the correct answer using the code given below.  
 (a) 3 only  (b) 5 only  (c) 1 and 2 only  (d) 3, 4, and 5 only  
31.  Consider the following statements about the “Network for Greening the Financial System”:  
 1. It is a facility under United Nations Environment Programme.  
 2. It is a network of Central banks working on climate and green finance issues.    
 3. Reserve Bank of India is a member of this network.   
 Which of the statements given above are correct?  
 (a) 1 and 3 only  (b) 1 and 2 only  (c) 2 and 3 only  (d) 1, 2 and 3   
32.  Which of the following is not a function of the Prime Minister.s Office in India?  
  (a) It helps the Prime Minister in his/her responsibilities as chairman of NITI Aayog  
  (b) It takes the responsibility  of Prime Minister‘s contact with the press and general public  
  (c) It  deals with the responsibility of the Prime Minister as the chairman of the Union Cabinet  
  (d) It helps Prime Minister to maintain a harmonious relationship with the President  
33.  Consider the following statement about Energy Efficiency Enterprise (E3) Certification Programme:  
 1.  This certification will be provided by the Bureau of Energy Efficiency.  
 2.  This certification is provided to commercial and residential buildings which use energy-efficient bricks in 

the construction process.    
 3.  Successful implementation of this program will contribute to India‘s commitment to Paris Agreement to 

achieve net-zero carbon emission by 2050.   
 Which of the statements given above are correct?  
 (a) 1 only  (b) 1 and 2 only  (c) 2 and 3 only  (d) 1, 2 and 3  
34.  With reference to the Election process, consider the following statements:  
 1. A person can be registered as a voter in any two constituencies of 2 different states in India.   
 2. There is no provision for a separate electorate or joint electorates in any elections held in India.  
 3. Both pre-poll and exit polls are allowed for all elections in India.  
 4. Anyone eligible to vote in the elections can become a candidate to contest the General Election in India.   
 Which of the statements given above are correct?  
 (a) 3 only  (b) 2 and 3 only  (c) 2, 3, and 4 only  (d) 1, 2, and 4 only  
35.  Consider the following statements about the National Strategy for Financial Education 2020-2025  
 1. It has been prepared by the Reserve Bank of India in consultation with all other Financial Sector Regulators  
 2. It is a third National Strategy for Financial Education document since 2010  
 3. It has recommended a =5 C‘ approach for the dissemination of financial education in the country  
 Which of the statements given above is/are correct?  
 (a) 3 only  (b) 1 and 2 only   (c) 1 and 3 only  (d) 1, 2 and 3  
36.  Consider the following statements about the Social Stock Exchange  
 1.  It is a regulated funding platform to allow social enterprises and voluntary organizations with a social 

purpose, to raise funds.  
 2.  India is the first country in the world to have a Social Stock Exchange  
 3.  It will be regulated by the Securities and Exchange Board of India  
 Which of the statements given above is/are correct?  
 (a) 1 and 3 only  (b) 2 and 3 only  (c) 1 only  (d) 1, 2 and 3  
37.  Consider the following statements about the Credit Guarantee Fund Trust for Micro and Small 

Enterprises  
 1.  Both fund and non-fund based credit facilities up to Rs 200 lakh per eligible borrower are covered under 

the scheme  
 2.  Regional Rural Banks are not eligible under this scheme.  
 3.  All Scheduled Commercial Banks are eligible lending institutions under the Scheme  
 Which of the statements given above is/are correct?  
 (a) 1 and 3 only  (b) 2 and 3 only  (c) 1 only  (d) 1, 2 and 3  
 


